
序号 品名 新系统品名 在库数

1 0022-74980 COVER ENCL SEC DIST PCA/PNEU 1

2 0720-07853 电线 20

3 0720-07852 电线 20

4 3300-02586 FTGTBG CONN 1/2T X 3/4 MPT SST 4

5 0060-71253 LABEL, HAZARDOUS CONFINED SPACE 168

6 0060-02041 LABEL, WARNING, HEAVY OBJECT, 8-LANGUAGE 150

7 0060-02330 LABEL, WARNING, ASPHYXIANT HAZARD, 8-LAN 146

8 0060-02045REV4 LABEL, WARNING, MOVING PARTS LOTO, 8-LAN 358

9 0060-02045REV3 LABEL, WARNING, MOVING PARTS LOTO, 8-LAN 55

10 1330-01054 TIE   CA NYLON 7.4LX.19WX1.75BD .44X.57M 905

11 3300-01604 GSKT VCR 3/4 SST FLAT RTNR 24

12 3320-01152 GSKTRTNR ASSY 3/4VCR SILVER PLT NICKEL 49

13 3320-01148 GSKT1/2VCR .44ID X .79OD X .03THK W/RTNR 61

14 3320-01465 169

15 3320-01024 34

16 0690-00592 CLAMP U BOLT FOR 6" O.D. TUBE SST 2

17 0190-41163 5

18 3690-12149 BOLT CAP IVORY M16X2.0 100

19 3400-00345 HOSE ASSY 1/2T 48LG TBG ENDS FLEX TFE/SS 1

20 3400-02060 1/2" TH HOSE W/FVCO ENDS 13.00"OAL 1

21 3400-02062 1/2" TH HOSE W/ FVCO ENDS. 27.5" OAL 1

22 0060-76256 LABEL,SEISMIC TIE DOWN 104

23 0060-71102 LABEL SLIT VALVE AIR REG 5500 3

24 0190-66024 SWITCH ABSOLUTE PRESSURE 5

25 1270-02934 5

26 3700-00087 ORING 63.50 ID X .275 CSD SPLICE-VITON 75 DURO BRN 3

27 3700-01739 O-RING 1

28 3700-04534 ORING 56.09ID X .275CSD SPLICED VITON 75 5

29 3700-08394 O-RING 159.29 IDX .354 CSD SPLICED VITON 75 DURO BROWN 3

30 3700-04405 ORING 51.26 ID X .275 CSD SPLICED-VITON 2

31 3880-01965 WSHR FINISH M4 BLK NYLON FOR 90DEG CSK F 16

32 3300-02968 RES POS TEMP COEF .25A 72V .45W .2LS 24A 3

33 3300-16626 FTG TBG INSERT 3/4 in. OD x 5/8 in. ID S 20

34 3300-01983 FTG   TBG INSERT 3/8OD X 1/4ID SWAGELOK 20

35 3300-15170 PNU FTG, MALE CONNECTOR, 1/8 INCH OD, 1/ 36

36 3800-00712 REGULATOR AIR PRESS 7 12PSI 3/4NPT W BRK 13

37 3300-06334 1

38 3300-09080 FTG   HOSE 1IN 1-5/16-12 THD FEMALE JIC 153

39 3300-13004 FITTING, 1? MALE FLARE & ? NPT, SST 36

40 0190-73505 MANIFOLD WATER COOLING VR 90K 1

41 M5*0.8*1.5D 铜螺纹套 1633

42 M16*2*1D 铜螺纹套 42

43 M12*1.75*1.5D 铜螺纹套 312

44 M6*1*1.5D 铜螺纹套 500

45 M24*3*1D 铜螺纹套 68

46 M20*2.5*1.5D 铜螺纹套 252

47 M8*1.25*2D 铜螺纹套 1140

48 M24*2*1.5D 铜螺纹套 61

49 0015-72514 DIN RAIL TYPE TS 35/7.5 12

50 3860-01338 TBG   NYLON 3/8" OD BLK 37

51 3860-01339 TBG  NYLON 1/4" OD BLK 2

52 3860-01341 TBG   NYLON 1/8" OD BLK 38

53 3860-01337 TBG   NYLON 1/2" OD BLK 5



序号 品名 新系统品名 在库数

54 3300-15361 FTG PIPE NIP RDCR CONICAL NW100XNW80 6

55 0051-72716 TUBE SLIT VALVE N2 INLET TCH 55KSI 14

56 3500-00253 NUT KEPS M5X0.8 (5.1 THK) 18-8 SST PASSI 18

57 0015-72501 MODIFICATION SHOULDER SCREW M6 40K 2

58 3940-00326 M4 x 0.5 X 25MM LENGTH, ADJUSTING STOPPE 13

59 3880-01554 WSHR  FLAT M4 9MMOD X 4.3MMID X .8THK NY 700

60 3500-01740 CHANNEL NUT W/SPRING FOR 1 5/8 INCH DEEP 4

61 1330-01153 TIE MOUNT CABLE #10 SCR(M5) NYLON 6/6 NA 450

62 0042-46716-24-01 焊接法兰管 17

63 0042-46737-6-1W-01 焊接法兰管 22

64 0042-46737-7-1W-01 焊接法兰管 2

65 0042-46737-10-1W-01 焊接法兰管 1

66 0042-46737-11-1W-01 焊接法兰管 3

67 0022-71159 HOLDER LID SAFETY SWITCH KEY 15K 4

68 0022-73034 PAD MOUNT XFER CHAMBER SIDE 40K 1

69 0041-70586 SUPPORT BRKT TUBE PM EXHAUST PORT T CH 5 1

70 0022-73035 PAD MOUNT XFER CHAMBER MIDDLE 40K 1

71 3860-01216 TBG   PLSTC .5 OD X .063 WALL FEP TEFLON 1

72 0026-74534 5

73 0042-47296 LASER SUBSTRATE SENSOR MOUNT BRKT 4

74 3300-09672 9

75 0040-73669 CLAMP TUBE 3-INCH VAC LINE 40K 2

76 3860-01253 TBG   FLX FEP TYPE .25"ODX.04"WX.170ID N 5

77 3800-01420 M20弹垫 2847

78 3880-01432 M12弹垫 1347

79 3880-01610 M24弹垫 140

80 3500-01239 M24螺母 15

81 3880-01609 M24平垫（304） 100

82 3880-00489 M24平垫（316） 279

83 3880-01840 M16平垫 695

84 3880-01419 M20平垫 450

85 3690-00564 M3*6二硫化钨 567

86 3880-01839 M16弹垫 845

87 3880-01025 M10弹垫 475

88 3880-01217 M10平垫 826

89 3880-01735 M5大平垫 1500

90 3880-01399 M5小平垫 355

91 3880-01632 M12大平垫 1740

92 3690-06446 M12*90 23

93 3690-05112 M12*65 97

94 3690-00710 M12*55 355

95 3690-03504 M12*40 275

96 3690-12526 M12*75 500

97 3690-03501 M12*70 325

98 3690-03361 M12*100 160

99 3690-00748 M24*70 3

100 0040-73875 90

101 0040-74930 24

102 3090-00252 M10吊环 240

103 3880-01336 10884

104 3880-01366 M5弹垫 1680

105 3880-01840 M16平垫 3400

106 3690-03501 M12*70 302

107 3690-06446 M12*90 180

108 3690-06179 M20*150 12.9 10

109 3880-01326 M3平垫 2685

110 3690-01961 M3*20 150

111 3880-01425 M6平垫 675



序号 品名 新系统品名 在库数

112 3690-03271 M5*45 2

113 3690-02025 M4*8 225

114 3690-07362 M4*12 525

115 3880-01389 M8平垫 8

116 3500-01203 M5螺母 170

117 3690-02019 10-24*3/8 73

118 3690-01094 10-32*1L 38

119 3690-02397 M4*30 30

120 3690-02500 M6*14 22

121 3690-03414 M5*8圆头 600

122 3690-02537 M5*10圆头 560

123 3690-02333 M3*10 130

124 3880-01248 M4弹垫 3500

125 3880-01562 M4中平垫 2708

126 3880-01364 M4小平垫 2500

127 3880-01393 M8弹垫 1070

128 3880-01325 M3弹垫 12500

129 3690-02303 M4*10 110

130 3500-01195 M8螺母 36

131 3690-02438 M5*12 1200

132 3690-02644 M6*16 420

133 3690-05051 M5*14 3100

134 3690-02391 M6*25 1370

135 3690-02500 M6*14 25

136 3690-02784 M6*50 110

137 3690-01567 M8*20 37

138 3690-03242 M8*65 53

139 3690-06742 M16*100 6

140 3690-02537 M5*10 210

141 3690-02448 M5*20 430

142 3690-04895 M16*75 33

143 3690-02303 M4*10 5

144 3690-00712 M4*20 150

145 3690-03825 M16*45 270

146 0051-74479 1

147 Φ12*71.3*50M 1

148 3860-00349  20米/卷 11

149 3860-00349  33米/卷 3

150 3860-00349  50米/卷 2

151 3400-00334 1

152 0022-72866 2

153 0051-74421 1

154 0051-71331 1

155 0050-71656 1

156 0051-72708 1

157 0051-72714 1

158 0043-71113 1

159 0043-71112 1

160 3870-05203 1

161 3300-02254 8

162 0022-74851 REV1 14

163 3870-00418 1

164 12FX-SS 15

165 16FX-SS 61

166 0022-72327 2

167 SS-3200-9 30

168 0050-73441 3

169 0051-73125 1



序号 品名 新系统品名 在库数

170 0050-72131 2

171 0050-73442 2

172 0050-72813 3

173 0150-73930-44 1

174 0150-73930-43 1

175 SFBT-16-16N 7

176 0023-72366 6

177 0023-72365 0023-72365-REV03 6

178 0023-72367 0023-72367-REV03 6

179 0023-72370 0023-72370-REV03 6

180 0023-72663 0023-72663-REV02 6

181 0023-72664 0023-72664-REV02 2

182 0023-72369 0023-72369-REV3 8

183 0150-74413-06 4

184 0150-74340-03 2

185 0150-73666-02 1

186 0150-74301-02 1

187 0150-73930-44 1

188 0150-73930-43 1

189 0150-74295-14 1

190 3400-01003 7

191 0150-74851-01 6

192 3300-02892 114

193 0025-71859 6

194 0051-72708 1

195 0190-73424 8

196 0050-71879 2

197 XVP502SS-16 253

198 0050-72425 2

199 0051-72708 4

200 0050-73493 8

201 0086-74499 12

202 0026-73094 4

203 0026-73092 7

204 0150-74939-01 8

205 0090-71377-01 3

206 0150-74340-03 1

207 0023-72370 8

208 0023-72346 7

209 0023-72367 7

210 UB1208-20-B 1

211 0023-72400 4

212 0026-73191 2

213 3870-04781 2

214 3870-04082 1

215 3870-03829 1

216 4020-01206 2

217 FPR-71-1905-AVU 1

218 3870-04541 4

219 SS 3/4*3/4 15

220 0023-72663 2

221 0023-72365 3

222 0022-71160 3

223 0022-71159 3

224 0026-73095 29

225 0026-74410 62

226 0090-71377-01 21

227 0023-72368 12



序号 品名 新系统品名 在库数

228 1270-02934 4

229 3300-03437 2

230 3700-01096 72

231 0150-74637-01 2

232 0150-73666-05 1

233 3700-05755 23

234 0021-74151 32

235 0022-73035 8

236 0022-73034 2

237 0023-72801 11

238 0010-72422 2

239 0191-71178-01 1

240 0021-73297 48

241 0022-73653 86

242 0020-65750 5

243 1350-00911 2

244 FUB-71-19.05-CJN 1

245 0022-73654 7

246 3800-00765 7

247 3300-00604 68

248 3700-00087 7

249 0150-73666-05 7

250 0150-73705-03 3

251 12WFTX-WLN-SS 26

252 16WFTX-WLN-SS 35

253 8-12FTX-SS 89

254 O-RING 3580.13-8.99 6

255 0150-74348-03 8

256 0150-74856-01 2

257 0150-74302-02 2

258 0150-74416-01 2

259 M24*3*1.5D 铜螺纹套 568

260 M12*1.75*1.5D 铜螺纹套 1350

261 M12*1.75*1D 铜螺纹套 800

262 M20*2.5*1.5D 铜螺纹套 290

263 M5*0.8*2D 不锈钢螺纹套 2260

264 M5*0.8*1.5D 不锈钢螺纹套 1140

265 M20*2.5*1.5D 不锈钢螺纹套 590

266 M24*3*2D 不锈钢螺纹套 274

267 M12*1.75*1D 不锈钢螺纹套 856

268 0050-73449 TUBE 5 N2 PLMBG SLIT VALVE 55K 1

269 0050-73452 TUBE SLIT VALVE VAC-2 55K 1

270 0051-72709 TUBE 4 N2 PLMG SLIT VALVE TCH 55KSI 1

271 0051-72710 TUBE 2 N2 PLMG SLIT VALVE TCH 55KSI 1

272 0050-73454 SLIT VALVE VAC 4 55K 1

273 0050-73453 TUBE SLIT VALVE VAC 3 55K 1

274 0051-72717 TUBE N2 VENT INLET TCH 55KSI 5

275 0051-72711 TUBE 3 N2 PLMG SLIT VALVE TCH 55KSI 1

276 0042-71977 WELDMENT DIFFUSER TUBE TCH 55KSI 4

277 0050-73652 TUBE WELDMENT 6 OD PM EXHAUST TCH 55K 1

278 M20*160 12.9 3690-05520 13

279 M16*50  12.9 3690-06099 183

280 M16*65  12.9 3690-05435 94

备注：清单仅供参考，具体以现场实物为准；
Remark: this list is for reference only, all assets are sold on "As is, Where is"


